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Fluency

Circle the correct word to complete the sentence below. 

He should have / of used Lego pieces to build a model that 

has a height of 35cm.  



Fluency

Circle the correct word to complete the sentence below. 

He should have / of used Lego pieces to build a model that 

has a height of 35cm.  



Fluency

Circle the correct word to complete the sentence below. 

____________are the correct answers to the 

spelling test. 

These Those Them



Fluency

These Those Them

Circle the correct word to complete the sentence below. 

______These______are the correct answers to 

the spelling test. 



Fluency

Use the words ‘have’ or ‘of’ to correctly complete the sentence 

below.

They could ___________  divided the cake into 

eighths so that eight people can share it.



Fluency

Use the words ‘have’ or ‘of’ to correctly complete the sentence 

below.

They could _____have______  divided the cake 

into eighths so that eight people can share it.



Fluency
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Application

Read the passage below. Rewrite any sentences that have not 

used standard English. 

Them are my greatest possessions. I should of 

stored them carefully in preparation for my 

journey. Now some of them are missing. 



Application

Read the passage below. Rewrite any sentences that have not used standard English. 

Them are my greatest possessions. I should of stored them carefully in 

preparation for my journey. Now some of them are missing. 

These are my greatest possessions. I should have stored them carefully in 

preparation for my journey. 



Application



Application

Those people know each other because they live at 

the same address.



Application

Susie thinks that she has completed her homework using standard 

English. Is she correct? 

We should have increased the length by 5cm. 

Underline the words that have influenced your decision and explain 

how you know. 



Application

Susie thinks that she has completed her homework using standard 

English. Is she correct? 

We should have increased the length by 5cm. 

Underline the words that have influenced your decision and explain 

how you know. 

Suzie is correct because she has used the modal verb ‘should’ 

followed by the verb ‘to have’.


